ALGEBRA I EXAM 2.1 Part II


1.
Tell whether the lines represented by the equations are parallel, perpendicular, or neither.
y = [image: image1.emf]
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(1 point)
24x – 4y = 12
2.
(a)
Write an equation for the line that is parallel to the given line and passes through the 
given point. 
y = [image: image2.emf]5

x + 8; (2, 16)




(1 point)

(b)
Write the equation of a line that is perpendicular to the given line and that passes through 
the given point.
x + 3y = 16; (–3, –4)




(1 point)
3.
What is the solution of the system below? Use a graph.

y = 5x + 4








(2 points)
y = 5x – 3
Graph the inequality in questions 8-9.
4.
[image: image3.png]











(2 points)
5.
4x + 6y ≥ 48








(2 points)
6.
Tom has a collection of 30 CDs and Nita has a collection of 18 CDs. Tom is adding 1 CD a month to his collection while Nita is adding 5 CDs a month to her collection. Solve a system of equations by graphing to find the number of months after which they will have the same number of CDs. 








(4 points)

7.
Suppose your budget allows you to spend less than $24 for decorations for a party.  Streamers cost $2 a roll and tablecloths cost $6 each.  Graph the inequality represented by this situation and give three possible combinations of streamers and tablecloths you can buy.
(4 points)


8.
A local citizen wants to fence a rectangular community garden. The length, x, of the garden should be at least 110 ft, and the distance around should be no more than 380 ft.




	a.
	Write a system of inequalities that models the possible dimensions of the garden.

	b.
	Graph the system to show all possible solutions.













(4 points)
9.

Write the inequalities represented by the graphs below:



(3 points)



                           (A)




   (B)




(C)


                  [image: image4.png]



10.
Write a system of inequalities for the graph below.


             (2 points)

                                   [image: image5.emf]O
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11.
Your parents invested $2000 in a college fund for you when you were 4 years old.  It doubled in value every four years.  If you are now 16, how much is in your college fund?
(1 point)
12.
A $5000 investment returns a 3.5% loss each year.  How much will it be worth at the end of 8 years?









(1 point)
[image: image6.png]13. Graph the solution of the following absolute value inequalities:
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®)8+ |av-7|< 17




14.  Find the first 5 terms determined by the following recursion formulas.
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15.  Write a recursive formula for each of the following sequences.


[image: image10.wmf]1,4,9,14,...

---


Questions 16-26 are MULTIPLE CHOICE

16.
Which ordered pair is a solution of the inequality?
(1 point)

[image: image11.png]2y + 6 < 8x




	A.
	(4, 13)
	B.
	(–5, 2)
	C.
	(0, 6)
	D.
	(4, 8)


[image: image12.png]17. Identify the intervals where the function is changing as requested: Constant

A) (3, =) B) (-=,0)
C)(-1,0) D) (-=,-1)or (3, =)

18. Given functions f and g, perform the indicated operations.
12)f(x)=6-8x,  g(x)=-4x+8
Findf+g
A) -4x+6 B) 2x C) -4x+14

19. Given functions f and g, perform the indicated operations.
Wix)=4x-9, gX)=7x-3
Findf-g
A)-3x-12 B)3x+6 C)11x- 12

D) -12x+ 14

D)-3x-6




[image: image13.png]20.List the intercepts of the graph.

A)(2,0),(0,2),(0,1), (0, -5) B)(2,0),(1,0)(-5,0),(0,2)
©) (-2,0), (1,0), (5, 0). (0,2) D) (2,0), (0,-2), (0, 1), (0, 5)



[image: image14.png]21. Determine whether the relation represents a function. If it is a function, state the domain and range.

Bob |———carrots!
Ann peas
Davd——| quesh

A) function
domain: (Bob, Ann, Dave}
range: [carrots, peas, squash}

B) function
domain: {carrots, peas, squash}
range: {Bob, Ann, Dave}

©) not a function

22. Find the value for the function.
Find £(2) when f(x) = A2+ s
A)2:5 B)2/17 Q243 D) 62



[image: image15.png]23. The graph of a function  is given. Use the graph to answer the question.
Use the graph of f given below to find £(80).

100 Jy

A)40 B) 100 <) 80 D) 140



[image: image16.png]24. The graph of a function is given. Determine whether the function is increasing, decreasing, or constant on the given
interval: (-1,0)

A) constant B) decreasing C) increasing.




[image: image17.png]25.Find the nth term and the indicated term of the arithmetic sequence { an} whose initial term, 2, and common difference,

d, are given.

A)ap=-11+9n; ag=115 B)an=-2+9n; ag=61
) an=-11-9n; ag=61 D) ap=-11+9n; ag=61




[image: image18.png]26.Find the nth term {an} of the geometric sequence. When given, r is the common ratio.
5,10, 20, 40, 80, ..
A)an=52n B)ap=5.2n-1 O an=ap+2n D)an=5.20




BONUS:


A baker has a bag of flour that is 11% whole wheat and a bag of flour that is 63% whole wheat. How many cups of each type does the baker need to make 12 cups of a flour mixture that is 50% whole wheat? 









(2 points)
_1604131096.unknown

_1604131108.unknown

